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UIL ACCOUNTING

District 2001-D2

Group 1

Indicate the classification of items 1 through 8 by writing the correct identifying letter on your answer sheet.




A. Asset

D. Revenue




B. Liability

E. Cost of Merchandise Sold




C. Capital

F. Expense

1. the amount owed to the state for sales taxes collected last month

2. Purchases Discounts

3. something of value owned by the business

4. the value of insurance available for use next fiscal period

5. Sales

6. the value of supplies used this fiscal period

7. Purchases

8. the net worth of the business

Group 2

The following is an unorganized list of the steps in the accounting cycle.  Answer questions 9 through 14 based on the correct order. On your answer sheet, write True if the statement is true, write False if the statement is false.


Item #

Unorganized List
1 Journalize each transaction.

2 Review source documents and analyze transactions.

3 Prepare the worksheet.

4 Post transactions to the general ledger.

5 Prepare financial statements from the work sheet.

6 Journalize and post closing entries.

7 Journalize and post adjusting entries.

8
           Prepare Post-Closing Trial Balance
  9. The unadjusted trial balance is prepared as a part of Item 3.

10. Item 2 should take place before Item 1.

11. Item 4 should take place before Item 1.

12. Item 6 should take place before Item 7.

13. Item 8 is a part of Item 3.

14. Items 3 and 4 are listed in reverse order.

Group 3

This is question #15.  Write the correct amount on your answer sheet.  An individual started a new business on June 1, 1998.  At that time the individual invested $75,000 in the business.  In 1998 revenues were $38,450, expenses were $42,870, and there were no owner withdrawals.  In 1999 the owner invested $10,000 and made no withdrawals.  Total revenues for 1999 were $102,540 and expenses were $98,500.  In 2000 the owner made no investments.  Total revenues for 2000 were $243,800 and expenses were $204,860.  The ending capital account balance on December 31, 2000 after closing entries were posted was $81,060.  How much did the owner withdraw from the business in 2000?

Group 4

For items 16 through 24, indicate the location where each is written on a balance sheet in account form which is illustrated below.  Write the correct identifying letter on your answer sheet.
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16. Title of each liability


21. Words Total Liab. and Owner’s Equity
17. Amount of each asset item

22. Words Total Assets
18. Section heading Owner’s Equity
23. Amount of capital

19. Words Total Liabilities


24. Total amount of liabilities

20. Specific date of financial statement

Group 5

The following information comes from the accounting records of two separate businesses.










Company 1

Company 2
December 31, 1999:


Assets……………………………………………….
   $  5,820

   $27,810


Liabilities…………………………………………….
       1,460

     16,430

December 31, 2000:


Assets……………………………………………….
     43,370

     49,720


Liabilities……………………………………………         7,160


?

During 2000:


Owner Investments…………………………………     10,000

       2,000


Net Income (Loss)………………………………….
          ?   

     53,780


Owner Withdrawals…………………………………       3,000

     18,000

Answer the following questions.  Write the correct amount on your answer sheet.

  25. What is the amount of owner’s equity for Company 1 on December 31, 1999?

* 26. What is the amount of net income for 2000 for Company 1?

* 27.  What is the amount of liabilities on December 31, 2000 for Company 2?

Group 6

Answer questions 28 through 31 using the following code:




DR = this account is closed with a debit




CR = this account is closed with a credit




NC = this account must not be closed

28. Sales

29. Merchandise Inventory

30. Transportation In

31. Purchases Discounts

Group 7

Refer to the T-accounts in Table 1 on page 8, which represent most of the general ledger accounts of Blue Bonnet Co. for the year 2000.  In the T-accounts, “YR2000” indicates the summary total of the transaction activity affecting the account during the year 2000.  Write the correct amount for questions 32 through 40 on your answer sheet.  You may remove the table page from the staple for convenience.

32. What amount did customers pay Blue Bonnet Co. on account in 2000?

33. What amount did Blue Bonnet Co. purchase from its vendors on account in 2000?

34. What is the amount of expired insurance for 2000?

*35. What is the amount of Merchandise Inventory at the end of the year 2000?

*36. What is the amount of net income for 2000?

37. What is the amount of supplies bought in 2000?

38. What is the amount owed to vendors as of 12-31-00?

*39. What is the capital balance that appeared on the balance sheet of 12-31-99?

*40. By what net amount did the capital account increase in 2000 due to transactions 


between the owner and Blue Bonnet Co.?

Group 8

The December 31, 2000 Post-Closing Trial Balance for the Best Company follows.  The company’s January 2001 special journals are shown in Table 2 on page 9.  Answer questions 41 through 46 using the code:  DR=debit    CR=credit

You may remove the table page from the staple for convenience.

Best Company

Post-Closing Trial Balance

December 31, 2000

	Account
	Debit
	Credit

	Cash
	      5,795
	

	Accounts Receivable, Customer A
	      2,010
	

	Merchandise Inventory
	    18,750
	

	Computer Equipment
	      5,000
	

	S. T. Garlic, Capital
	
	   31,555

	Totals
	    31,555
	   31,555


41. The total of the sales journal is posted to the Accounts Receivable account as a ?.

42. The total of the purchases journal is posted to the Accounts Payable account as a ?.

43. In the cash receipts journal, the amount $131 is posted as a ?.

44. In the cash receipts journal, the amount $2,010 is posted to Customer A as a ?.

45. In the cash payments journal, the amount $242 is posted as a ?.

46. In the cash payments journal, the specific amount $1,200 is posted as a ?.

Continue to use the data in Table 2.  Assume that all transactions have been posted to the ledgers correctly.  For questions 47 through 49, write the correct amount on your answer sheet.

*47. What amount does Customer C owe to Best Company on 1-31-01?

48. What is the discount percentage taken when Best Company paid Company Three?

*49. Before the bank reconciliation is prepared, what is the balance in the Cash account


on 1-31-01?

Group 9

The following are all of the accounts of Imports, Etc. that have a balance at the end of December, the company’s first month of operation:

	Accounts Payable
	 36,300
	
	Rent Expense
	1,500

	Accounts Receivable
	11,000
	
	Salaries Expense
	9,000

	Advertising Expense
	3,000
	
	Service Revenue
	32,000

	Cash
	10,100
	
	Max Downing, Capital
	               ?

	Store Equipment
	39,700
	
	Max Downing, Drawing
	2,000

	Office Equipment
	2,300
	
	
	


For questions 50 through 54, write the correct amount on your answer sheet.

50. What is the amount of net income?

51. What is the amount of capital on the trial balance?

*52. What is the amount of the balancing totals on the trial balance?

*53. What is the amount that the owner invested in the business?

**54. What is the amount of owner’s equity to be shown on the December 31 balance 

      sheet?

Group 10

In questions 55 through 61, determine the correct column or columns of the work sheet for the year ended December 31, 2000 in which each of the following belongs using the code:


A. Trial Balance debit


E. Income Statement debit


B. Trial Balance credit

F. Income Statement credit


C. Adjustments debit


G. Balance Sheet debit


D. Adjustments credit

H. Balance sheet credit

55. Prepaid Insurance on January 1 plus any premiums paid in 2000

56. The Balance Sheet column used to write the amount of net loss

57. On the line for Office Supplies, the amount used during the period

58. The column to which Purchases Discounts is extended

59. The amount of Office Supplies available for use next fiscal period

60. The Income Statement column used to write the amount of net income

*61. On the line for Income Summary, the amount of decrease in inventory during the 


period

Group 11

Analyze the equations in items 62 through 67 for a business that uses an account called Transportation In.  If the equation is true, write TRUE on your answer sheet; if it is not, write FALSE.

*62. Cost of Delivered Merchandise minus Purchases Returns minus Net Purchases 


equals Purchases Discounts.

63. Net Sales minus Cost of Delivered Merchandise equals Cost of Merchandise Sold.

64. Gross Profit plus Cost of Merchandise Sold equals Net Sales.

65. Purchases minus Transportation In equals Cost of Delivered Merchandise.

66. Cost of Merchandise Available for Sale minus Beginning Inventory equals Net 


Purchases.

67. Cost of Merchandise Sold plus Ending Inventory equals Cost of Merchandise 


Available for Sale.

Group 12

Using the code below, identify how questions 68 through 72 would be handled for the June 30 bank reconciliation of Monroe Co.





A. added to the checkbook balance





B. deducted from the checkbook balance





C. added to the bank statement balance





D. deducted from the bank statement balance

68. Monroe Co.’s June checks #4211, #4224, and #4225 were not listed on the bank


statement as cleared items.

69. There was a bank service charge of $7.50.

70. A deposit on June 30 was not listed among the bank statement deposits for June.

71. Monroe Co.’s check #4221 was recorded on the check stub as $540 and correctly


cleared the bank as $450.

72. A customer’s check deposited on June 28 by Monroe Co. was returned by the bank


as NSF.  Monroe Co. first learned about this upon receipt of the June bank 


statement.

Group 13

Refer to the information in Table 3 on page 10.  You may remove the table page from the staple for convenience.  For questions 73 through 76, write the correct amount on your answer sheet.  For questions 77 through 80, write the identifying letter of the best response on your answer sheet.

*73. If the employee earnings record for Tomas Olvera is totaled at the end of October,

      what is the year-to-date total of net pay?

74. What is the amount of Becky’s gross wages for November?

*75. What is the net pay for Tomas for November?

76. What is the net pay for Becky for November?

*77. Slone Company will need to pay November’s liability for employee income tax and 

      the employer and employee portion of Social Security and Medicare taxes by using 

      Form 8109 federal tax deposit coupon by December 15 in the amount of


A. $2,400.92     B. $2,622.32     C. $2,747.78     D. $2,750.84     E. $3,532.04

78. When the employer’s payroll tax entry for November is journalized, what amount 


must be credited to Federal Unemployment Tax Payable?


A. $5.60     B. $6.72     C. $14.72     D. $17.44     E. $22.08     F. $77.44

79. When the employer’s payroll tax entry for November is journalized, what amount 


must be credited to State Unemployment Tax Payable?


A. zero     B. $8.40    C. $14.72     D. $22.08     E. $26.16     F. $40.56     G. $116.16

***80. After the November payroll entries are posted, what is the balance of the account 


called Payroll Tax Expense? 


A. $7,181.37     B. $7,651.05     C. $7,652.17     D. $8,041.65

This is the end of the exam.  Please hold your answer sheet and test questions until the contest director asks for them.  Thank you.

Table 1

(for questions 32 through 40)

	Cash
	
	Accounts Receivable

	(1-1-00)        8,600
	
	
	(1-1-00)    12,850
	

	(Yr 2000)  152,175
	         136,100
	
	(Yr2000)   52,400
	           42,275

	(12-31-00)     24,675
	
	
	(12-31-00)   22,975
	

	
	
	
	
	


	Supplies on Hand
	
	Prepaid Insurance

	(1-1-00)        1,650
	
	
	(1-1-00)       2,800
	

	(Yr 2000)      3,870
	         
	
	(Yr2000)      4,200
	           

	(12-31-00) 

Adjusting entry  
	                  4,040
	
	(12-31-00) 

Adjusting entry
	             4,400

	(12-31-00)         1,480
	
	
	(12-31-00)      2,600
	            


	Merchandise Inventory
	
	Accounts Payable

	(1-1-00)      20,800
	
	
	(1-1-00)    
	            5,200

	(12-31-00)

adjusting entry?  
	         
	
	(Yr2000)  58,790
	            60,080

	(12-31-00)       ?
	
	
	(12-31-00) 
	                   6,490

	
	
	
	
	


	Capital
	
	Income Summary

	(1-1-00)        
	           41,500
	
	(1-1-00)     
	

	(Yr 2000)      
	           25,000
	
	(12-31-00) 

Adjusting

 Entry            2,300
	           

	(12-31-00) 

Closing

 entries      10,000 
	                 7,240
	
	(12-31-00) 

Closing

 Entries    127,760
	           137,300

	(12-31-00)    
	           63,740
	
	(12-31-00) 

Closing

 Entry          7,240
	

	
	
	
	(12-31-00)  
	            


TABLE  2

(for questions 41 through 49)

                           Sales Journal                                    Purchases Journal
	Account
	Amount
	
	Account
	Amount

	Customer A
	        5,400
	
	Company One
	       8,000

	Customer B
	        1,150
	
	Company Two
	       6,200

	Customer C
	      12,780
	
	Company Three
	       4,950

	
	
	
	
	

	Total
	      19,330 
	
	Total
	     19,150


                                     General  Journal

	
	
	

	Sales Returns & Allowances
	           750
	

	     Accounts Receivable—Customer C
	
	           750

	
	
	

	Accounts Payable—Company Three
	           850
	

	     Purchases Returns & Allowances
	
	           850


Cash Receipts Journal

	Account
	Other Accounts
	Accounts Receivable
	Sales
	Sales Discounts
	Cash

	Customer B
	
	    1,150
	
	           23 
	    1,127

	Cash sales
	
	
	   11,210
	
	  11,210

	Computer Equipment
	     2,000
	
	
	
	    2,000

	Cash sales
	
	
	   12,410
	
	  12,410

	Customer A
	
	    2,010
	
	         
	    2,010

	Customer A
	
	    5,400
	
	         108
	    5,292

	
	
	
	
	
	

	Totals
	     2,000
	    8,560
	   23,620
	         131
	  34,049


Cash Payments Journal

	Account
	Other Accounts
	Accounts Payable
	Purchases

Discounts
	Cash

	Prepaid Insurance
	      1,200
	
	
	     1,200

	Company One
	
	     8,000
	          160
	     7,840

	Company Three
	
	     4,100
	            82
	     4,018

	Store Equipment
	      1,380
	
	
	     1,380

	
	
	
	
	

	Totals
	      2,580
	   12,100  
	          242
	   14,438


Table 3

(for questions 73 through 80)

Tomas Olvera has worked for Slone Company as financial controller for 15 years and receives an annual salary of $90,000, paid monthly.  His voluntary deductions include $300 per month to a savings plan.

Also employed by Slone Company are Becky Tomlinson who is paid $8.00 per hour in a standard 40-hour workweek and Aaron Wilkes who is paid $6.00 per hour in a standard 40-hour workweek.  Neither Becky nor Aaron has any voluntary deductions.

Slone Company prepares adjusting entries monthly and closing entries only at the end of the fiscal year, which is December 31.  Your calculations should be rounded to the nearest cent.

· The employee and employer pay Social Security tax at a rate of 6.2% on the first $76,200 in earnings.

· The employee and employer pay Medicare tax at the rate of 1.45% on all earnings.

· State unemployment taxes are paid on the first $9,000 in wages per employee at a rate of 1.20%.

· Federal unemployment taxes are paid on the first $7,000 in wages per employee at a rate of .8%.

· Overtime pay is one and one-half times the regular rate of pay.

· Federal income tax withholding is as follows:

· Tomas Olvera $1,850 per month

· Becky Tomlinson 15% of gross wages

· Aaron Wilkes is exempt ($0)

· The accumulated earnings for the calendar year 2000 through October 31 are as follows:

· Tomas Olvera $75,000

· Becky Tomlinson $8,000

· Aaron Wilkes $6,300

· In the month of November, Tomas was not absent from work; Becky worked  160 regular hours and 5 hours of overtime; Aaron worked 140 regular hours.

